
⑫ 6
5
+
3

7

=
6

5
%
7

3
=

6 % 7

5 % 3
=

2 % 7

5 % 1
=

1414

5

⑪ 1010
2121
%
7

5

=
1010 % 7

2121 % 5
=
2 % 1

3 % 1
=

2

3

⑩ 1
2

−
1

3

=
3

6
−
2

6
=

1

6

⑨ 1
3

+
2

5

=
5

1515
+

6

1515
=

1111

1515

⑧ 2.2 + 4

= 0.5555

⑦ 2.8 % 6

= 1616.8

⑥ 6.8 − 3.5

= 3.3

⑤ 2.6 + 3.5

= 6.1

④ 6060 + 5

= 1212

③ 1818 % 3

= 5454

② 2525 − 8

= 1717

① 1717 + 1616

= 3333
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⑫ 3
4
+
6

5

=
3

4
%
5

6
=

3 % 5

4 % 6
=

1 % 5

4 % 2
=

5

8

⑪ 5

2424
%

8

2525

=
5 % 8

2424 % 2525
=

1 % 1

3 % 5
=

1

1515

⑩ 4
5

−
1

2

=
8

1010
−

5

1010
=

3

1010

⑨ 1
4

+
2

3

=
3

1212
+

8

1212
=

1111

1212

⑧ 1.2 + 8

= 0.1515

⑦ 1.7 % 5

= 8.5

⑥ 5.3 − 3.9

= 1.4

⑤ 3.7 + 2.4

= 6.1

④ 7272 + 6

= 1212

③ 2323 % 4

= 9292

② 3232 − 1717

= 1515

① 2525 + 1818

= 4343
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⑫ 5
6
+
1010

3

=
5

6
%

3

1010
=

5 % 3

6 % 1010
=

1 % 1

2 % 2
=

1

4

⑪ 9

2020
%
5

3

=
9 % 5

2020 % 3
=
3 % 1

4 % 1
=

3

4

⑩ 1
3

−
1

4

=
4

1212
−

3

1212
=

1

1212

⑨ 3
4

+
1

5

=
1515

2020
+

4

2020
=

1919

2020

⑧ 2.6 + 5

= 0.5252

⑦ 3.2 % 6

= 1919.2

⑥ 5.2 − 2.5

= 2.7

⑤ 3.4 + 2.7

= 6.1

④ 5252 + 4

= 1313

③ 1616 % 4

= 6464

② 2323 − 7

= 1616

① 2525 + 1818

= 4343
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⑫ 3
8
+
9

4

=
3

8
%
4

9
=

3 % 4

8 % 9
=

1 % 1

2 % 3
=

1

6

⑪ 5

1818
%

6

2525

=
5 % 6

1818 % 2525
=

1 % 1

3 % 5
=

1

1515

⑩ 3
5

−
1

3

=
9

1515
−

5

1515
=

4

1515

⑨ 1
2

+
2

3

=
3

6
+
4

6
=

7

6

⑧ 1.5 + 6

= 0.2525

⑦ 1.4 % 6

= 8.4

⑥ 5.4 − 1.7

= 3.7

⑤ 3.9 + 5.2

= 9.1

④ 8484 + 7

= 1212

③ 2727 % 4

= 108108108

② 4141 − 1515

= 2626

① 4343 + 2525

= 6868
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⑫ 3
7
+

9

1414

=
3

7
%
1414

9
=

3 % 1414

7 % 9
=

1 % 2

1 % 3
=

2

3

⑪ 4

1515
%
5

8

=
4 % 5

1515 % 8
=
1 % 1

3 % 2
=

1

6

⑩ 3
5

−
1

2

=
6

1010
−

5

1010
=

1

1010

⑨ 2
3

+
1

4

=
8

1212
+

3

1212
=

1111

1212

⑧ 6.4 + 4

= 1.6

⑦ 2.3 % 7

= 1616.1

⑥ 3.2 − 1.7

= 1.5

⑤ 3.7 + 2.8

= 6.5

④ 7878 + 6

= 1313

③ 1212 % 5

= 6060

② 3636 − 1818

= 1818

① 1616 + 1919

= 3535
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⑫ 3

1010
+
6

5

=
3

1010
%
5

6
=

3 % 5

1010 % 6
=

1 % 1

2 % 2
=

1

4

⑪ 5

1414
%

7

1010

=
5 % 7

1414 % 1010
=

1 % 1

2 % 2
=

1

4

⑩ 4
5

−
3

4

=
1616

2020
−
1515

2020
=

1

2020

⑨ 1
2

+
2

7

=
7

1414
+

6

1414
=

1313

1414

⑧ 3.2 + 5

= 0.6464

⑦ 1.8 % 9

= 1616.2

⑥ 6.3 − 3.7

= 2.6

⑤ 1.9 + 3.8

= 5.7

④ 9292 + 4

= 2323

③ 2929 % 3

= 8787

② 4343 − 1818

= 2525

① 2424 + 3737

= 6161
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⑫ 3
5
+

9

2020

=
3

5
%
2020

9
=

3 % 2020

5 % 9
=

1 % 4

1 % 3
=

4

3

⑪ 4

2121
%
7

8

=
4 % 7

2121 % 8
=
1 % 1

3 % 2
=

1

6

⑩ 2
3

−
1

2

=
4

6
−
3

6
=

1

6

⑨ 1
3

+
2

5

=
5

1515
+

6

1515
=

1111

1515

⑧ 7.2 + 3

= 2.4

⑦ 2.7 % 6

= 1616.2

⑥ 5.4 − 1.9

= 3.5

⑤ 2.6 + 3.5

= 6.1

④ 6464 + 4

= 1616

③ 1313 % 7

= 9191

② 4343 − 2626

= 1717

① 1717 + 2525

= 4242
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⑫ 6
7
+

3

1414

=
6

7
%
1414

3
=

6 % 1414

7 % 3
=

2 % 2

1 % 1
= 4

⑪ 6
5
%
1010

9

=
6 % 1010

5 % 9
=
2 % 2

1 % 3
=

4

3

⑩ 3
4

−
1

3

=
9

1212
−

4

1212
=

5

1212

⑨ 1
4

+
2

5

=
5

2020
+

8

2020
=

1313

2020

⑧ 9.2 + 4

= 2.3

⑦ 1.9 % 8

= 1515.2

⑥ 5.3 − 2.8

= 2.5

⑤ 2.9 + 4.3

= 7.2

④ 161161161 + 7

= 2323

③ 2626 % 8

= 208208208

② 3232 − 2424

= 8

① 2828 + 1515

= 4343
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